Svenska Bridgeférbundet
Simultan dagtid 2022-03-31

Partavling, 49 bord, 96 par. Antal brickor: 24. Medel: 1104.1. Frirond (*) ger egen procent.

Plac Par
1 B9
2 B6
3 A2
4 F2
5 E9
6 E11
7 D17
8 Gl10
9 D16

10 Ci14
11 D15
12 B12
13 Al6
14 D18
15 D2
16 B5
17 F7
18 All
19 C8
20 G11
21 D3
22 F1
23 B8
24 G7
25 Ci12
26 Al5
27 G8
28 G2
29 F5
29 F6
31 B1
31 E3
33 A7
34 F4
35 C2
36 F9
37 C3
38 D4
39 G9
40 Al
41 Al13
42 C1
43 C7
44 D11
45 E4
46 Al4
47 C16
48 E8
49 B2
50 A4
51 G6
52 F3
53 A3
54 E6
54 C9
56 EI10
57 A5
58 G4
59 C4
60 C5
61 Al2
62 E7
63 D13
64 D12
65 Ci15
66 EI12
67 D1
68 E1
69 A6
70 D14
71 C6
72 F8
73 D10
74 Cl1
75 G3
76 D6
77 D8
78 Bll1
79 E5
80 G5
81 G1
82 G12
83 E2
84 A9
85 D5

Poang

1731.0
1548.0
1459.0
1422.0
1418.0
1386.0
1378.0
1362.0
1353.8
1336.4
1332.0
1328.0
1318.0
1310.2
1295.0
1289.0
1288.0
1281.0
1275.3
1272.0
1263.3
1257.0
1255.0
1247.0
1240.4
1239.0
1234.0
1227.0
1221.0
1221.0
1220.0
1220.0
1210.0
1203.0
1202.2
1200.0
1198.9
1194.0
1190.0
1180.0
1175.0
1169.5
1165.1
1144.4
1144.0
1133.0
1122.5
1099.0
1086.0
1084.0
1083.0
1081.0
1077.0
1071.0
1071.0
1070.0
1055.0
1051.0
1049.0
1042.9
1036.0
1030.0
1027.6
1024.4
1015.6
1013.0
1009.1
1008.0
1005.0
992.7

989.5

989.0

976.4

934.0

928.0

924.0

923.0

917.0

915.0

892.0

884.0

878.0

874.0

826.0

813.8

%

78.40
70.11
66.08
64.40
64.22
62.77
62.41
61.68
61.31
60.52
60.33
60.14
59.69
59.34
58.65
58.38
58.33
58.02
57.76
57.61
57.21
56.93
56.84
56.48
56.18
56.11
55.89
55.57
55.30
55.30
55.25
55.25
54.80
54.48
54.45
54.35
54.30
54.08
53.89
53.44
53.22
52.96
52.77
51.83
51.81
51.31
50.84
49.77
49.18
49.09
49.05
48.96
48.78
48.51
48.51
48.46
47.78
47.60
47.51
47.23
46.92
46.65
46.54
46.39
46.00
45.88
45.70
45.65
45.52
44.96
44.81
44.79
44.22
42.30
42.03
41.85
41.80
41.53
41.44
40.40
40.04
39.76
39.58
37.41
36.86

Namn

Micael Svensson - Conny Svensson
Goran Fredriksson - Sven-Peter Johansson
Jan Larsson - Kjell-O Persson

Lars Haglund - Idor Kihlmark

Staffan Hed - Roger Hilmersson

Maud Kylinger - Arne Melin

William Doss - Morgan Kronlund

Britt Edlund - Karl Kedland

Lars Moquist - Gerth Hermansson
Ingegerd Malmstrém - Christina Andreasson
Stig Wikstrdm - Ronny Johansson
Margareta Svensson - Pelle Svensson
Dennis Ovefors - Kerstin Skogsfors
Lars-Johan Sundh - Johan Hermansson
Rune Holm - Inger Karlsson

Ann-Britt Friberg - Elsie Robertsson
Lottie Lundmark - Leif Lundmark

Nils Eriksson - Benny Hellman

Else Holdt - Inger Edstrom
Margaretha Grufman - Monica Séderlund
Ronny Johansson - Kent Fritsson
Bruno Astrand - Uno Karlsson

Barbro Posse - Kjell Posse

Yngve Frélander - Hans Ohrling

Birthe Nilén - Goran Sandstrom

Lars Wastfelt - Christina Akerblom
Kjell S6derlund - Krister Grufman

Ove Jansson - Inga Nyber

Cecilia Moérner - Svante Wangberg

UIf Frimodig - Eivor Henriksson
Marie-Louice Lind - Katarina Widell
Gert Sjunnesson - Bertil.e. Andersson
Claes-Goran Bergstrom - Stefan Odevall
Leif Eliasson - Monika Térnkvist

Ann Granvik - Margareta Svensson
Kent Wéppling - Else-Marie Wéappling
Lotta Nilsson - Kristian Nilsson
Katarina Freitag - Gote Nissinen

Sten Frykholm - Hans Ahlstrom
Eva-Lotta Axséter - Charlotte Koch
Agneta Moberg - Arne Sjostrom
Gull-Maj Erlandsson - Leif Erlandsson
Hans Stever - Laila Stever

Bengt Lennartsson - Stig Magnusson
Harriet Rosell - Kerstin Engmark
Agneta Bringby - Dan Danielson

Bodil Andersson - Margareta Marcus
Siv Gustavsson - Viveca Rappe

Sten Andersson - Jorn Koérner

Gunnar Bendz - Anders Lindblad
Sven Mellgvist - Pia Schoéldstrom
Bengt Hallgren - Kerstin Idman

Rolf Léwenborg - Birgitta Soderbergh
Conny Lellky - Ove Kindstrand

Greta Persson - Jan Lundahl

Lars Jonsson - Inga-Lill J6nsson

Lars Osihn - Tomas Carlsson

Gunilla Ostervall - Lena Bjon-Aaltonen
Gunilla Fridlund - Britt-Louise Fallenius
Lena Jansson - Anne Stahle

Eva Linde - Lillemor Berg

Roger Johansson - Ingemar Lindberg
Eje Sandell - Curt Petersson

Eva Baranyai - Gerty Jonsson

Inger Sandman - Anette Wiktorsson
Marie Cederkrok - Anita Bergstedt
Rosemarie Fried - Jan-Erik Alm
Ann-Margret Olsson - Inger Carlsson
Inger Wastfelt - Siv Boethius

Anni Zastrau - Bent Hansen Lumbye
Kerstin Wahlund - Kerstin Anderlind
Agneta Fréberg - Gunilla Ehlin

Lars Malmer - Sivert Johansson
Solveig Kristiansson - Eva Tillheden
Ann Varcoe - George Varcoe

Gunnel Ingesson - Wille Fyhr

Kjell Josefsson - Eskil Mattsson

Maritha Brandensjoé Mogren - Ann Bjoérkegren

Ingrid Karlsson - Margareta Strém
Ingrid Molin - Roland Johansson
Maud Heleander - Irene Edstrom
Klas Holm - Clas Hero

Maj Danielsson - Sivert Danielsson
Lena Normelli - Margareta Persson
Ebbe Warme - Ulla Holmberg

MID
2383 7638
4148 26270
5220 10169
47878 21611
19816 42107
31298 85944
68924 16220
10455 62396
9743 3093
46300 31012
37811 65948
43897 43898
93638 41393
87261 28975
1675 10753
46480 34452
53804 53805
11401 15033
89099 83718
49938 79676
969 14893
53524 62924
43910 43909
14452 25090
65321 38419
41397 47051
11466 11013
9090 33178
87945 47877
41478 17544
67896 61450
47447 79016
88204 85389
58736 65835
67147 68200
88572 88573
63051 63052
84856 54063
62363 59983
61395 55889
33198 61715
23351 23352
35040 39214
84336 9669
51025 51114
37379 55484
26046 42265
87227 6842
9796 27328
54972 64251
50225 47213
8909 12035
57167 57168
88451 995
15752 33500
68659 68660
59755 48143
9131 2602
53716 48323
45117 38420
56644 56643
67449 56706
58910 29263
59297 81623
49935 31014
40103 35005
34469 31595
26892 56481
41396 47480
60270 65771
83971 89251
53176 62921
63014 37787
5514 32560
62266 62267
31851 64505
67400 29253
60761 66095
35000 35001
62268 62308
11406 28486
17148 57611
37932 37933
37385 35511
29258 29247

Klubb

Orebridgen - ABK Singelton, Askersund
ABK Singelton, Askersund

BK S:t Erik - Lidingé BK

Trosa BS

Filbyter Bridge

Filbyter Bridge

Bridgekamraterna Nybro - Kalmarsunds BK
Akersberga BS

Bridgekamraterna Nybro
Kullabygdens BK

Kalmarsunds BK - Bridgekamraterna Nybro
ABK Singelton, Askersund

BK S:t Erik - BK Alert
Bridgekamraterna Nybro
Kalmarsunds BK - Bridgekamraterna Nybro
ABK Singelton, Askersund

Trosa BS

Vaddo BK - Sollentuna Bridge
Kullabygdens BK

Akersberga BS

Emmaboda BK

Trosa BS

ABK Singelton, Askersund
Akersberga BS

Angelholms BS - Kullabygdens BK
BK Alert

Akersberga BS

Akersberga BS

Trosa BS

Trosa BS

ABK Singelton, Askersund
Filbyter Bridge

Norrorts Bridge

Trosa BS

Kullabygdens BK

Trosa BS

Kullabygdens BK

Kalmarsunds BK - Emmaboda BK
Akersberga BS

BK S:t Erik - BK Alert

BK Alert

Kullabygdens BK

Kullabygdens BK
Bridgekamraterna Nybro

Filbyter Bridge

Norrorts Bridge

Kullabygdens BK

Filbyter Bridge

ABK Singelton, Askersund

BK Alert

Akersberga BS

Trosa BS

BK Alert

Filbyter Bridge

Kullabygdens BK

Filbyter Bridge

BK Alert

Akersberga BS

Kullabygdens BK

Kullabygdens BK

BK Alert

Filbyter Bridge

Bridgekamraterna Nybro
Bridgekamraterna Nybro
Kullabygdens BK

Filbyter Bridge

Bridgekamraterna Nybro - Kalmarsunds BK
Filbyter Bridge

BK Alert

Bridgekamraterna Nybro
Kullabygdens BK

Trosa BS

Kalmarsunds BK - Bridgekamraterna Nybro
Kullabygdens BK

Akersberga BS

Kalmarsunds BK - Bridgekamraterna Nybro
Bridgekamraterna Nybro

ABK Singelton, Askersund
Filbyter Bridge

Akersberga BS

Akersberga BS

Akersberga BS

Filbyter Bridge

BK Alert

Bridgekamraterna Nybro
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86 F12 809.0 36.64 Birgitta Kempe - Else-Maj Sigfridsson 62922 63114 TrosaBS
87 Al0 808.0 36.59 Eva Sandberg - Briten Krokstedt 35523 38330 BK S:tErik
88 B4 804.0 36.41 Christer Lindman - Conny Gustafson 200355 200354 ABK Singelton, Askersund
89 F10 793.0 35.91 Mats Ersson - Ingvar Malm 58734 54270 TrosaBS
90 D7 788.7 35.72 Inga Zackrisson - Ove Zackrisson 32799 32800 Emmaboda BK
91 A8 778.0 35.24 Torkel Olund - Eijvor Frej 41379 58332 BK Alert
92 C13 771.3 34.93 Eva Seidel - Gudrun Palmquist 50609 33828 Kullabygdens BK
93 F11 764.0 34.60 Fredrik Broberg - Bengt Ljungcrantz 90783 4393 TrosaBS
94 B7 709.0 32.11 Lilian Karlsson - Ann-Christine Berg 67897 55168 ABK Singelton, Askersund
95 B10 681.0 30.84 Ann-Margreth Andersson - Gunbritt Edgvist 55166 55172 ABK Singelton, Askersund
96 B3 680.0 30.80 May Gustafsson - Ingalill Hedén 55173 66093 ABK Singelton, Askersund
1 48 Basta kontrakt 2 49865 Basta kontrakt 3 & EKKn9 Basta kontrakt
Nord vE732 4v O =-420 Ost v KKn53 2NTOD-1100 |Syd vKn 4% S =130
Ingen + E532 NS + K ov + E1043
#DKn105 & ¢ v & NT #Kn432 & ¢ v & NT »D864 & ¢ v & NT
46 « EK92 N5 4374 |a- « EKD102 N457 66 47652 443 N 107 5 8 8
vDKn8654 v 109 S5 4374 |v82 vD104 S 6 486 6 vE105 vK8743 S 107 5 8 8
¢+ K9 ¢ DKn76 O 8 7 105 9 | +943 ¢DKn1075 O 6 8 4 6 7 +85 ¢ KKn762 036745
*K762 #E98 V 8 7 105 9 | #KD1098765 - V68467 #E953 &2 V36745
4 DKn107543 4 Kn743 « D108
vK vE976 v D962
41084 + E862 +D9
*43 &E #KKn107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F10 F5 4v V-3 48 150 910 10| F9 Fl1 44DO-6 &A 1400 920 0.0| D4 D17 4¢ O-5 «J 500 92.0 0.0
Al6 A12 2NO-3 v9 150 91.0 10| C3 C5 44DO-2 &#A 300 880 40| C4 C6 3NN+1 ¥3 430 88.0 4.0
B9 Bl 34 S-= »6 140 88.0 40| G7 G12 54DV-2 ¢K 300 88.0 40| F7 F12 3NS+1 42 430 88.0 4.0
B2 Bll 24 S= «2 110 86.0 6.0|/G10 G5 5#4DV-2 ¢K 300 88.0 40| B9 Bl 3NN+1 2 430 88.0 4.0
F2 F11 4v V-2 48 100 78.0 140| A3 A5 44 O-5 &A 250 840 80| E2 E11 3NN= +6 400 79.0 13.0
E4 E3 3NO-2 «Q 100 78.0 140| E2 E11 5#V-4 ¢K 200 79.0 13.0| C7 C15 3NS= 3 400 79.0 13.0
E7 E12 4v V-2 48 100 78.0 140| F2 F11 5#V-4 3 200 79.0 13.0| G7 G12 3NN= v4 400 79.0 13.0
E8 E6 3NO-2 «Q 100 780 140|E10 E5 34 O-4 &A 200 79.0 13.0| E10 E5 3NN= 2 400 79.0 13.0
F8 F6 4v O-2 «Q 100 78.0 140| Al5 A6 3NO-4 7 200 79.0 13.0|G10 G5 3NN= +3 400 79.0 13.0
D17 D2 4vV-2 48 100 78.0 140| B4 B3 14 O0-3 ¢2 150 71.0 21.0| D14 D7 3NS= +8 400 79.0 13.0
D18 D1 4vV-2 48 100 78.0 140|C13 C1 3NO-3 v6 150 71.0 21.0| G2 G11 2NN+2 v4 180 69.0 23.0
A3 A5 4v V-1 438 50 57.0 35.0| Al4 A7 4#V-3 ¥3 150 71.0 21.0| E8 E6 INS+3 &3 180 69.0 23.0
C3 C5 3vV-1 «Q 50 57.0 350/ D18 D1 3NO-3 v6 150 710 21.0|C14 C8 2NS+2 vA 180 69.0 23.0
FA F3 4v V-1 a8 50 57.0 35.0| C8 Cl11 2v N= «A 110 66.0 26.0| D18 D2 2NN+2 6 180 69.0 23.0
G4 G3 3v V-1 a8 50 57.0 35.0| G2 G11 2¢DO-1 #A 100 48.0 440( C1 C16 24 N+2 &2 170 64.0 28.0
C8 Cl1 2NO-1 4 50 57.0 35.0| D3 D16 4¢ O-2 &A 100 48.0 440| B2 B1l INS+2 v5 150 51.0 41.0
D8 D11 4v O-1 4Q 50 57.0 35.0| D4 D15 3NO-2 v6 100 48.0 440| F2 F11 INS+2 +8 150 51.0 41.0
E9 E1 2NO-1 4Q 50 57.0 350 F4 F3 4#V-2 ¢K 100 48.0 440| B4 B3 INS+2 &9 150 51.0 41.0
G9 Gl 3NO-1 &Q 50 57.0 35.0| B7 B12 4#V-2 3 100 48.0 440 E4 E3 INN+2 44 150 51.0 41.0
G10 G5 3NO-1 #Q 50 57.0 350| F7 F12 34 O-2 7 100 48.0 440 F4 F3 INS+2 v5 150 51.0 41.0
Al3 Al 4v V-1 +A 50 57.0 35.0| B8 B6 2NV-2 ¥3 100 48.0 440 A7 A15 INN+2 +¢2 150 51.0 41.0
C13 Cl1 4v V-1 48 50 57.0 35.0| E8 E6 3¢ O-2 ¢2 100 48.0 440 B8 B6 INS+2 &5 150 51.0 41.0
D13 D6 4v V-1 438 50 57.0 35.0| B9 Bl 2NO-2 7 100 48.0 440 G8 G6 INS+2 &3 150 51.0 41.0
D14 D5 2NO-1 4Q 50 57.0 350 E9 E1 5#V-2 5 100 48.0 440 E9 E1 INS+2 &3 150 51.0 41.0
Cl6 C12 2NO-1 T 50 57.0 350/ B10 B5 3NO-2 v6 100 480 440| G9 Gl INS+2 v5 150 51.0 41.0
G2 G11 34 S-1 vQ -50 40.0 52.0| A13 Al 3NO-2 v6 100 48.0 440 A10 A5 INS+2 &3 150 51.0 41.0
B4 B3 2NN-1 ¢J -50 40.0 52.0| D13 D6 44 O-2 vA 100 48.0 44.0| D11 D10 INS+2 #3 150 51.0 41.0
G8 G6 24 S-1 vQ -50 40.0 52.0|C14 C7 4#V-2 v5 100 48.0 440| D15 D6 14 S+2 43 140 38.0 54.0
G7 G12 34 S-2 +K -100 35.0 57.0| D14 D5 44V-2 +K 100 48.0 440 A4 A6 3&#N+1 ¢2 130 36.0 56.0
D12 D7 34DS-1 ¢K -100 35.0 57.0| Al6 Al2 4¢ O-2 v6 100 48.0 440 D1 D3 INS+1 #3 120 32.0 60.0
Al5 A6 2NO= 44 -120 32.0 60.0 | D17 D2 100 48.0 440| D5 D16 INN+1 44 120 32.0 60.0
Cl4 C7 3vO= «Q -140 30.0 62.0| G4 G3 44V-1 43 50 25.0 67.0| C9 C12 INS+1 &3 120 32.0 60.0
A8 All 2NN-3 *T -150 25.0 67.0| F8 F6 44V-1 v3 50 250 67.0| G4 G3 24 N= &2 110 21.0 71.0
A9 A4 34 S-3 K -150 25.0 67.0| G9 G1 4#V-1 ¢K 50 25.0 67.0| E7 E12 2« N+1 &2 110 21.0 71.0
E1I0 E5 INV+2 #Q -150 25.0 67.0| F10 F5 4#V-1 ¢3 50 25.0 67.0| A9 Al12 2&#N+1 2 110 21.0 71.0
Ci5 C6 2NO+1 43 -150 25.0 67.0|{C15 C6 3¢ O-1 ¥6 50 25.0 67.0|B10 B5 3« N= 44 110 21.0 71.0
E2 E11 3v V+1 +A -170 19.0 73.0|C16 Cl12 44V-1 ¢33 50 250 67.0| A11 A3 24 N= &2 110 21.0 71.0
A10 A2 3v V+1l 48 -170 19.0 73.0| B2 Bll 14 O= &A -80 15.0 77.0| A13 A2 3&# N= v3 110 21.0 71.0
FO F1 3NN-5 T -250 16.0 76.0| D8 D11 14 O= &A -80 150 77.0| D13 D8 3« N= ¢2 110 21.0 71.0
D4 D15 34DS-2 vQ -300 14.0 780| G8 G6 14 O= &A -80 15.0 77.0| A14 A8 24 N= &2 110 21.0 71.0
F7 F12 3NO= 4Q -400 10.0 82.0| A10 A2 14 O= &A -80 15.0 77.0| B7 B1l2 INS= *2 90 12.0 80.0
C9 C4 3NO= 4Q -400 10.0 82.0| D12 D7 3v N-1 &K -100 10.0 82.0| Al Al6 44 N-1 7 -50 7.0 85.0
Al4 A7 3NO= 43 -400 10.0 82.0| E4 E3 3¢ O= &A -110 7.0 85.0| F8 F6 44 N-1 43 -50 7.0 85.0
B7 B12 4v V= 2 -420 6.0 86.0| E7 E12 3¢ O= &A -110 7.0 85.0{C11 C3 34 N-1 ¥8 -50 7.0 85.0
B10 B5 3NO+1 3 -430 4.0 88.0| A8 All 44 V+1l 3 -150 4.0 88.0|C13 C2 3NN-1 ¢3 -50 7.0 85.0
D3 D16 3¢DN-3 *T -500 2.0 90.0| C9 C4 3v N-2 &A -200 2.0 90.0| F9 F1 54S-2 8 -100 1.0 91.0
B8 B6 44DS-4 ¢K -800 0.0 920| A9 A4 3NO= +6 -400 0.0 920| F10 F5 34 N-2 &2 -100 1.0 91.0
- C2 50.1 - C2 50.1 - D12 42.7
D10 - 40.7 D10 - 40.7 - C5 435
4 « D832 Bésta kontrakt 5  E10952 Bésta kontrakt 6 4 E9 Bésta kontrakt
Vast v EK83 2NTV =-120 Nord v75 INTO =-90 Ost vK 6NT S =990
Alla ¢ 654 NS ¢ EDKn7 ov + K1042
%108 & ¢ v & NT »K5 & ¢ v & NT #Kn109432 & ¢ v & NT
& K65 & 1097 N4 7765 4Kn864 4D73 N57 676 452 4 Kn8763 N 12117 1012
v76 v DKn4 S47765 vE2 vKD98 S566 6 6 vD1097432 vKn86 S 12117 1012
+ K92 ¢ E83 O9 6 6 6 8 410932 ¢+ K6 075767 + D96 ¢ 753 011621
#ED954 #KKn62 V96668 #EKN6 D983 V757867 »8 »E6 V11621
» EKn4 s K « KD104
v 10952 v Kn10643 vE5
+ DKn107 + 854 + EKn8
*73 #10742 #KD75
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
E5 E4 5#V-2 vA 200 90.0 2.0| B8 B12 3vDO-3 4K 500 92.0 0.0| B5 B4 6NS= v2 990 92.0 0.0
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Cl3 C2 5#V-2 vA 200 90.0 20| B5 B4 14aDN= vQ 160 90.0 20| B9 B2 6% N= vJ 920 89.0 3.0
D14 D7 3NO-2 ¢Q 200 90.0 2.0|G10 G6 3v O-3 &K 150 87.0 50| E9 E2 6#S= vT 920 89.0 3.0
B5 B4 3&#V-1 46 100 80.0 12.0( A13 A3 2¢ V-3 «A 150 87.0 50| G9 G2 3vDV-2 «4A 500 86.0 6.0
A9 Al2 44#V-1 vA 100 80.0 12.0| F3 F11 2NV -2 42 100 79.0 13.0| E1 E7 3NS+3 v2 490 66.0 26.0
B9 B2 3NO-1 T 100 80.0 12.0| A8 Al5 2v O-2 +4 100 79.0 13.0| D2 D4 3NS+3 v7 490 66.0 26.0
G9 G2 3NO-1 +Q 100 80.0 12.0| C9 C14 3NV-2 7 100 79.0 13.0( E3 E11 3NN+3 7 490 66.0 26.0
Cl4 C8 3NO-1 +Q 100 80.0 120| E9 E2 2v0O0-2 &K 100 79.0 13.0( F3 F11 3NS+3 49 490 66.0 26.0
D15 D6 3NO-1 ¢Q 100 80.0 12.0|Cl11 C6 2¢ V-2 45 100 79.0 13.0| G3 G11 3NS+3 v4 490 66.0 26.0
D18 D2 3NO-1 ¢Q 100 80.0 12.0(D15 D8 2v O-2 4K 100 79.0 13.0( F5 F4 3NS+3 v9 490 66.0 26.0
G8 G1l2 Pass 72.0 20.0| F8 F12 2¢ N= vK 90 71.0 21.0( D6 D17 3NS+3 &5 490 66.0 26.0
E8 E12 INO= +Q 90 69.0 23.0| B9 B2 2¢ N= vK 90 71.0 21.0| F8 F12 3NS+3 v2 490 66.0 26.0
E9 E2 2&4V= vA -90 69.0 23.0| E1 E7 1a N= vK 80 65.0 27.0| G8 G12 3NS+3 v2 490 66.0 26.0
Al Al6 24V +1 v3 -110 49.0 43.0| F1 F7 1a N= v8 80 65.0 27.0| A9 Al4 3NS+3 v9 490 66.0 26.0
Bl B7 24V+1 vA -110 49.0 43.0| A12 A4 1a N= v9 80 65.0 27.0| C9 C14 3NS+3 v9 490 66.0 26.0
Cl Ci16 24V +1 vK -110 49.0 43.0|C12 C4 1a N= v8 80 65.0 27.0[ A10 Al 3NS+3 ¥2 490 66.0 26.0
El E7 24V+1 vA -110 49.0 430| Bl B7 2vO-1 K 50 54.0 38.0| A1l A6 3NS+3 v2 490 66.0 26.0
F1 F7 2&V+1 vA -110 49.0 43.0| D2 D4 2v O-1 «K 50 540 38.0|C1l1 C6 3NS+3 v4 490 66.0 26.0
Gl G7 2#V+1 vA -110 49.0 43.0| G3 G1l1 2¢ V-1 «A 50 54.0 38.0(C12 C4 3NS+3 v9 490 66.0 26.0
F3 Fll 2 V+1 vA -110 49.0 43.0| G5 G4 INV-1 7 50 54.0 38.0| D12 D11 3NS+3 v4 490 66.0 26.0
C4 C6 3aV= vA -110 49.0 43.0| G8 G12 2NV-1 &2 50 540 38.0|D15 D8 3NS+3 v2 490 66.0 26.0
D4 D17 3& V= vK -110 49.0 43.0| F9 F2 2v O-1 &K 50 54.0 38.0( A16 A2 3NN+3 &7 490 66.0 26.0
A7 Al5 3& V= vA -110 49.0 43.0| D10 D13 3NO-1 &K 50 54.0 38.0( D16 D7 3NN+3 46 490 66.0 26.0
B8 Bl12 24 V+1 vA -110 49.0 43.0| C5 C7 2¢ V= v7 90 44.0 480| B1 B7 5#S+1 &5 420 34.0 58.0
F8 F12 24V +1 ©vA -110 49.0 43.0| G9 G2 INV= a2 90 44.0 480| F1 F7 5«#S+1 v2 420 34.0 58.0
Al0 A5 24V +1 43 -110 49.0 43.0| D12 D11 INV= a2 90 44.0 48.0| A5 A7 5#S+1 v9 420 34.0 58.0
E1I0 E6 24 V+1 vA -110 49.0 43.0| B3 B11 14 N-1 8 -100 29.0 63.0| C5 C7 5#S+1 v4 420 34.0 58.0
F10 F6 3« V= a2 -110 49.0 43.0| E3 E11 2¢ N-1 %8 -100 29.0 63.0| D5 D1 5#S+1 v7 420 34.0 58.0
All A3 2&#V+1 vK -110 49.0 43.0| F5 F4 14 N-1 v¢K -100 29.0 63.0| E5 E4 54N+1 v6 420 34.0 58.0
D11 D10 3& V= vA -110 49.0 43.0| C8 C15 14 N-1 v¥9 -100 29.0 63.0| G5 G4 5#S+1 vQ 420 34.0 58.0
Al4 A8 34 V= vA -110 49.0 43.0| E8 E12 14 N-1 vK -100 29.0 63.0| E8 E12 5«4 N+1 ¥4 420 34.0 58.0
D1 D3 INO+1 T -120 22.0 70.0| A9 Al4 14 N-1 vK -100 29.0 63.0| F9 F2 5#S+1 97 420 34.0 58.0
B3 B1l INO+1 ¢Q -120 22.0 70.0| A10 Al 14 N-1 8 -100 29.0 63.0| D10 D13 5#4S+1 +6 420 34.0 58.0
E3 E11 INO+1 ¢Q -120 22.0 70.0| F10 F6 14 N-1 +v8 -100 29.0 63.0| A13 A3 54S+1 &2 420 34.0 58.0
D5 D16 INO+1 ¢Q -120 22.0 70.0| A11 A6 24 N-1 K -100 29.0 63.0|C16 C2 5#S+1 +Q 420 34.0 58.0
F5 F4 INO+1 +Q -120 22.0 70.0|C16 C2 3¢ N-1 vK -100 29.0 63.0| D18 D3 4« S= &8 420 34.0 58.0
G5 G4 INV+1 3 -120 22.0 70.0| D16 D7 2vy N-1 %3 -100 29.0 63.0| Al2 A4 54 S= v4 400 19.0 73.0
FO F2 2NO= +Q -120 22.0 70.0|/ D18 D3 14 N-1 ¢¥K -100 29.0 63.0|C13 C3 5#S= 42 400 19.0 73.0
Al3 A2 2NO= T -120 22.0 700| G1 G7 2NV= *A -120 13.0 79.0| E1I0 E6 3# N+3 &6 170 14.0 78.0
D13 D8 INO+1 T -120 22.0 70.0| D5 D1 INV+1l 9 -120 13.0 79.0| F10 F6 3#N+3 43 170 14.0 78.0
C9 C12 3#V+1l vA -130 11.0 81.0| E5 E4 INV+1l a2 -120 13.0 79.0|G10 G6 34 S+3 4 170 14.0 78.0
Cll C3 3«V+1 vA -130 11.0 81.0|B10 B6 INV+1 &2 -120 13.0 79.0| B10 B6 34 S= &8 140 10.0 82.0
A4 A6 INV+2 &3 -150 8.0 84.0| A5 A7 14 N-2 vK 200 7.0 85.0| B3 Bll 44 S-1 %8 -50 5.0 87.0
C7 C15 3NV= v3 -600 4.0 880|E10 E6 14 N-2 +¢Q 200 7.0 85.0|] A8 Al15 3NS-1 v4 -50 5.0 87.0
B10 B6 3NO= +Q -600 4.0 88.0| D6 D17 14 N-3 v¥K -300 3.0 89.0| B8 B12 44 S-1 #8 -50 5.0 87.0
G10 G6 3NO= a4 -600 4.0 88.0|C13 C3 3NN-3 &9 -300 3.0 89.0|] C8 C15 7NN-1 &A -50 5.0 87.0
G3 G11 3NV +1 3 -630 0.0 92.0| A16 A2 3NV= *J 400 0.0 92.0| G1 G7 44 S-2 &8 -100 0.0 92.0
- D12 42.7 - C1 48.7 - C1 48.7
- C5 43.5 (D14 - 41.4 D14 - 41.4
7 D3 Basta kontrakt 8 4 Kn975 Basta kontrakt 9 4 K6 Basta kontrakt
Syd v72 34 V =-140 Vast vED10 46 N =420 Nord v E876 5NT O =-660
Alla + EDKn6 Ingen + Kn86 ov 464
#109853 & ¢ v & NT &KD8 & ¢ v & NT #K9652 & ¢ v & NT
4104 « EK9876 N6 6 6 45 4ED64 438 N9 9 6 109 4 E84 & Kn9 N4 1151
vE9863 vD S66 645 vKn754 v98632 S 9 107 109 v KKn1054 vD2 S41151
¢+ 973 ¢ 1054 O76797 ¢ K43 ¢ 752 043633 + ED8 ¢KKn1032 0O 9 11118 11
&#Kn72 &EK4 V7617297 32 &#Kn1065 V436 33 83 &#ED107 V9 11117 11
& Kn52 4 K1032 4 D107532
v KKn1054 vK v93
+ K82 + ED109 + 975
»D6 #E974 &Kn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G10 G7 44 O-1 %6 100 90.0 20| F9 F3 3NN+1 48 430 920 0.0 Al A8 4v V-2 46 200 92.0 0.0
Cll C2 44 O-1 6 100 90.0 2.0( Bl B12 44 N= 7 420 68.0 24.0| B10 B7 5¢ O-1 42 100 89.0 3.0
Al2 A7 44 O-1 v4 100 90.0 20| E1 E12 44 N= v2 420 68.0 240 |C16 C4 4¢ O-1 o7 100 89.0 3.0
B9 B3 INN-= & A 90 86.0 6.0| F1 F12 44 N= & 420 68.0 240| A2 A6 24 S-2 +8 -100 850 7.0
E2 E8 14 O+1 ¥J -110 78.0 14.0| G1 G12 44 N= 48 420 68.0 240| B9 B3 34S-2 T -100 850 7.0
F6 F5 14 O+1 &Q -110 78.0 140| B2 B8 44 N= 2 420 68.0 240 E9 E3 2¢ O+2 &7 -130 81.0 11.0
B10 B7 24 O= +8 -110 78.0 140| F2 F8 44 S= +3 420 68.0 24.0|G11 G4 3¢ O+1 &J -130 81.0 11.0
Bll B4 14 O+1 v4 -110 78.0 140| C3 C16 44 N= v9 420 68.0 240 A7 A9 4¢ O+1 &J -150 78.0 14.0
D11 D14 24 O= a2 -110 78.0 140| D3 D5 44 N= 420 68.0 240 G1 G12 3¢ O+3 %4 -170 69.0 23.0
E1ll E4 14 O+1 ¥J -110 78.0 140| D6 D2 44 N= & 420 68.0 240| C2 C6 3¢ O+3 &J -170 69.0 23.0
Al5 A9 24 O= *2 -110 78.0 140| E6 E5 44 N= v2 420 68.0 240 D4 D6 3¢ O+3 &J -170 69.0 23.0
Al A5 24 O+1 «Q -140 43.0 49.0| G6 G5 44 N= v9 420 68.0 240| F9 F3 3¢ O+3 &J -170 69.0 23.0
Cl C5 24 O+1 ¢2 -140 43.0 49.0| B9 B3 44 N= 48 420 68.0 240| G9 G3 3v V+l &K -170 69.0 23.0
El E12 24 O+1 ¥J -140 43.0 49.0| E9 E3 44 N= v6 420 68.0 24.0 (D12 D15 3¢ O+3 %4 -170 69.0 23.0
F1 F12 14 O+2 5 -140 43.0 49.0| E10 E7 44 N= v6 420 68.0 24.0| A15 A10 3¢ O+3 &J -170 69.0 23.0
Gl G12 24 O+1 &2 -140 43.0 49.0|G10 G7 44 N= &3 420 68.0 24.0| D17 D10 3¢ O+3 v9 -170 69.0 23.0
B2 B8 14 O+2 #6 -140 43.0 49.0|B11 B4 44 S= +3 420 68.0 240| G6 G5 3v V+3 &6 -230 60.0 32.0
F2 F8 24 O+1 #Q -140 43.0 49.0| E11 E4 44 S= &3 420 68.0 240| C7 C9 3NV= &5 -600 55.0 37.0
G2 G8 24 O+1 Q -140 43.0 490 | F11 F4 44 N= v4 420 68.0 240 | E1I0 E7 3NV= &2 -600 55.0 37.0
A3 Al6 24 O+1 &6 -140 43.0 49.0| A12 A7 44 N= *J 420 68.0 24.0| A13 A5 3NV= &5 -600 55.0 37.0
C3 C16 24 O+1 %6 -140 43.0 49.0|C12 C7 44 N= v9 420 68.0 24.0| D18 D5 5¢ O= & -600 55.0 37.0
D3 D5 24 O+1 ¥5 -140 43.0 49.0| A15 A9 44 N= v9 420 68.0 240| E2 E8 5¢ O+1 &4 -620 49.0 43.0
A6 A8 1e O+2 #Q -140 43.0 49.0| D17 D8 44 S= +3 420 68.0 240 B6 B5 4v V= &K -620 49.0 43.0
B6 B5 1sa O+2 v4 -140 43.0 49.0| D18 D4 44 S= &2 420 68.0 240| F1 F12 3NV +1 &5 -630 41.0 51.0
C6 C8 34 0= +K -140 43.0 49.0| G2 G8 3NN= v9 400 40.0 52.0| B2 B8 3NV+1l &2 -630 41.0 51.0
D6 D2 24 O+1 45 -140 43.0 49.0| B6 B5 3NN= v2 400 40.0 520 F2 F8 3NV+l1 &K -630 41.0 51.0
E6 E5 24 O+1 #Q -140 43.0 49.0| G9 G3 3NN= v9 400 40.0 52.0| E6 E5 3NO+1 &5 -630 41.0 51.0
D7 D1 24 O+1 vJ -140 43.0 49.0| A11 A2 3NN-= v2 400 40.0 52.0(C13 C5 3NV +l1 &5 -630 41.0 51.0
E9 E3 24 O+1 «Q -140 43.0 49.0| D15 D10 3NS= v4 400 40.0 52.0|C14 C11 3NO+1 3 -630 41.0 51.0
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G9 G3 14 O+2 #Q -140 43.0 49.0| A13 A4 34 N+1 &6 170 33.0 59.0( F6 F5 4v V+1 46 -650 32.0 60.0
Al0 Al4 14 O+2 vJ -140 43.0 49.0|C15 C9 24 S+2 &3 170 33.0 59.0(C12 C3 4v V+1l &2 -650 32.0 60.0
All A2 24 O+1 &6 -140 43.0 490|F10 F7 2NN+1 &8 150 30.0 62.0(A16 A4 4v V+1 +6 -650 32.0 60.0
F11 F4 24 V+1 97 -140 43.0 49.0| A6 A8 24 N+1 &5 140 28.0 640 C1 C8 3NV+2 &2 -660 22.0 70.0
Gll G4 24 O+1 2 -140 43.0 490| F6 F5 2NS= v4 120 26.0 66.0 G2 G8 3NV+2 &5 -660 22.0 70.0
Al3 A4 24 O+l &6 -140 43.0 49.0| A1l A5 44 N-1 &5 -50 14.0 78.0| D7 D3 3NV+2 46 -660 22.0 70.0
Cl5 C9 14 O+2 v4 -140 43.0 490| C1 C5 44 N-1 v9 -50 14.0 78.0|B11 B4 3NO+2 &5 -660 22.0 70.0
D15 D10 24 O+1 #Q -140 43.0 49.0| E2 E8 44 N-1 8 -50 14.0 78.0( F11 F4 3NO+2 &7 -660 22.0 70.0
D17 D8 24 O+1 #Q -140 43.0 49.0| A3 Al6 44 N-1 v6 -50 14.0 78.0| A12 A3 3NO+2 &5 -660 22.0 70.0
D18 D4 34 O= a2 -140 43.0 490| C6 C8 44 N-1 &J -50 14.0 78.0| D14 D13 3NO+2 a2 -660 22.0 70.0
Bl B12 14 O+3 #6 -170 10.0 82.0| D7 D1 44 N-1 v6 -50 14.0 78.0| D8 D2 4y V+2 &2 -680 14.0 78.0
G6 G5 14 O+3 #6 -170 10.0 82.0| A10 Al4 44 N-1 #J -50 14.0 78.0| Bl B12 3NV +3 &2 -690 6.0 86.0
F9 F3 14 O+3 &6 -170 10.0 82.0|B10 B7 44 N-1 &5 -50 14.0 78.0| E1 E12 3NV +3 v6 -690 6.0 86.0
F10 F7 24 O+2 T -170 10.0 82.0| D11 D14 44 S-1 &2 -50 14.0 78.0| F10 F7 3NV +3 &2 -690 6.0 86.0
Cl2 C7 14 O+3 v4 -170 10.0 82.0|G11 G4 44 N-1 #J -50 14.0 78.0|G10 G7 3NV +3 &5 -690 6.0 86.0
E10 E7 2NN-3 46 -300 2.0 90.0|D13 D12 3NS-1 v4 -50 14.0 780 |E11 E4 3NO+3 #J -690 6.0 86.0
Cl13 C4 3vS-3 «4 -300 2.0 90.0|C11 C2 54 N-2 &J -100 1.0 91.0| Al14 A1l 3NV +3 &5 -690 6.0 86.0
D13 D12 3NN-3 4A -300 2.0 90.0|C13 C4 44 N-2 v2 -100 1.0 91.0| D16 D11 3NV +3 &2 -690 6.0 86.0
- Cl4 55.7 - Cl4 55.7( D1 - 42.0
D16 - 56.4 D16 - 56.4 C15 - 42.3
10 4 D102 Basta kontrakt 11 4 K95 Basta kontrakt 12 4 EKNn1093 Basta kontrakt
Ost vED109 34 S =140 Syd v7 6¢ VD -2 300 Vast v9 6NT N = 1440
Alla ¢+ E107 Ingen * 64 NS * K72
#KD8 & ¢ v o NT #EDKN9742 & ¢ v o NT #E1042 & v NT
« E64 & Kn3 N8 87 9 8 4EKN86 42 N 103 11115 « D87 4542 N 1211101212
vK874 v653 S88798 v42 v 1085 S 103 11115 v 875 v DKn632 S 1211101212
¢ KKn84 ¢ D52 O555 3 4 ¢ EKNn53 ¢ KD109872 O 2 101 2 5 ¢ Kn1093 ¢854 o1 3 1
&E4 #76532 V556 34 #1083 #K5 V 2 101 2 5 &D75 K3 AV 3 1
& K9875 «D10743 & K6
vKn2 v EKDKNn963 v EK104
+963 *- + ED6
#Kn109 »6 #Kn986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D16 D11 INV-3 T 300 92.0 0.0 Al A4 4v S+2 48 480 86.0 6.0 D2 D10 6NN= +8 1440 90.0 2.0
E7 E6 INV-2 9 200 85.0 7.0 C3 C7 5vS+1 +¢A 480 86.0 6.0 B9 B4 6NS= +3 1440 90.0 2.0
B9 B4 24 N+3 &7 200 85.0 7.0 B9 B4 4v S+2 ¢3 480 86.0 6.0 D17 D12 6NS= +3 1440 90.0 2.0
G10 G8 INV-2 &K 200 85.0 7.0 F9 F4 4v S+2 ¢A 480 86.0 60 F9 F4 64 N= vQ 1430 86.0 6.0
Cl2 C3 INV-2 v9 200 85.0 7.0[{E1l1 E5 4v S+2 48 480 86.0 6.0 E3 E1 3NS+3 43 690 75.0 17.0
E12 E2 24 N+3 ¥3 200 85.0 7.0(D13 D16 4v S+2 ¢A 480 86.0 6.0 F3 F1 3NN+3 vQ 690 75.0 17.0
Al4 All 34 S+2 #A 200 85.0 7.0(D15 D14 4v S+2 ¢A 480 86.0 6.0 A5 Al6 3NS+3 ¢3 690 75.0 17.0
A7 A9 24 S+2 ¢8 170 75.0 17.0( C2 C9 44 S+1 ¢A 450 61.0 31.0( F7 F6 3NS+3 43 690 75.0 17.0
E9 E4 24 S+2 &A 170 75.0 17.0( D2 D10 4v S+1 ¢A 450 61.0 31.0( G7 G6 3NS+3 ¢9 690 75.0 17.0
G1l G5 14 S+3 &A 170 75.0 17.0( A3 A7 4v S+1 &A 450 61.0 31.0({G10 G8 3NN+3 48 690 75.0 17.0
D17 D10 24 N+2 &7 170 75.0 170 F3 F1 5v S= ¢A 450 61.0 31.0(E11 E5 3NS+3 ¢4 690 75.0 17.0
E10 E8 2NN+1 &7 150 70.0 220 E7 E6 4v S+1 ¢A 450 61.0 31.0({G11 G5 3NS+3 ¢3 690 75.0 17.0
Al A8 24 S+1 &A 140 64.0 280 G7 G6 4v S+1 ¢A 450 61.0 31.0(E12 E2 3NN+3 7 690 75.0 17.0
G7 G6 24 N+1 +2 140 64.0 28.0( D8 D4 4v S+1 ¢A 450 61.0 31.0(D18 D6 3NS+3 49 690 75.0 17.0
E1l E5 24 N+1 v6 140 64.0 28.0( G9 G4 4v S+1 ¢A 450 61.0 31.0| A2 A9 44 N+2 vQ 680 62.0 30.0
Cl4 Cl1l1 24 N+1 v6 140 64.0 28.0( E1I0 E8 44 S+1 &8 450 61.0 31.0f C2 C9 44 N+2 ¥2 680 62.0 30.0
Al5 Al0 34 S= +8 140 64.0 28.0( A1l Al5 4v S+1 45 450 61.0 31.0( A1l Al5 44 N+2 vQ 680 62.0 30.0
B12 B2 2NN= &7 120 58.0 340(B11 B5 5v S= ¢A 450 61.0 31.0( D1 D11 3NS+2 ¢ 660 44.0 48.0
Cl C8 24 S= ¢4 110 54.0 38.0(G11 G5 44 S+1 ¢A 450 61.0 31.0( A3 A7 3NS+2 ¢J 660 44.0 48.0
A2 A6 24 S= &A 110 54.0 38.0(B12 B2 4v S+1 ¢A 450 61.0 31.0| C5 C16 3NS+2 ¢ 660 44.0 48.0
D18 D5 24 S= «A 110 54.0 38.0[( E12 E2 44 S+1 ¢A 450 61.0 31.0( D5 D7 3NS+2 ¥8 660 44.0 48.0
C2 C6 INV-1 T 100 38.0 540(C13 C6 4vy S+1 ¢A 450 61.0 31.0( E7 E6 3NS+2 ¢T 660 44.0 48.0
F3 F1 INV-1 vA 100 38.0 54.0( Al4 Al2 4v S+1 ¢3 450 61.0 31.0( A8 A10 3NS+2 43 660 44.0 48.0
G3 G1 INV-1 v9 100 38.0 54.0(C14 C12 4v S+1 +¢A 450 61.0 31.0( E9 E4 3NS+2 ¢7 660 44.0 48.0
D4 D6 INV-1 ¢9 100 38.0 54.0( D17 D12 4v S+1 ¢A 450 61.0 31.0( G9 G4 3NS+2 ¢J 660 44.0 48.0
B7 B6 INV-1 9 100 38.0 54.0( D1 D11 4v S= ¢A 420 36.0 56.0( F12 F2 3NS+2 49 660 44.0 48.0
C7 C9 INV-1 v9 100 38.0 540 A2 A9 44 S= 5 420 36.0 56.0(G12 G2 3NS+2 ¢J 660 44.0 48.0
F9 F4 INV-1 T 100 38.0 54.0( B3 Bl 4v S= ¢A 420 36.0 56.0[ A13 A6 3NS+2 43 660 44.0 48.0
F1I0 F8 INV-1 v9 100 38.0 54.0( D5 D7 4v S= ¢A 420 36.0 56.0[{C13 C6 3NS+2 +¢J 660 44.0 48.0
F11 F5 INV-1 v2 100 38.0 540 F7 F6 4v S= ¢A 420 36.0 56.0 | A14 Al12 3NS+2 43 660 44.0 48.0
Gl12 G2 INV-1 9 100 38.0 54.0(B10 B8 4v S= ¢A 420 36.0 56.0 [ C14 C12 3NS+2 ¢J 660 44.0 48.0
Al13 A5 INV-1 v9 100 38.0 540 F11 F5 4v S= v4 420 36.0 56.0 (D15 D14 3NS+2 43 660 44.0 48.0
Al6 A4 INV-1 T 100 38.0 54.0( A8 A10 3v S+4 ¢5 260 28.0 64.0 B10 B8 44 N+1 v2 650 27.0 65.0
Cl6 C4 INV-1 +9 100 38.0 540 C1 C4 3vS+3 ¢A 230 25.0 67.0( F10 F8 44 N+1 ¥3 650 27.0 65.0
E3 E1 INN= *Q 90 22.0 70.0({C11 C15 3v S+3 ¢3 230 25.0 67.0| A1l A4 3NS+1 ¢ 630 19.0 73.0
F7 F6 INN= *2 90 22.0 700 FI0 F8 3v S+1 46 170 21.0 71.0f C1 C4 3NS+1 T 630 19.0 73.0
D12 D15 INN= &7 90 220 70.0|G10 G8 3v S+l ¢A 170 21.0 71.0( B7 B6 3NS+1 ¢J 630 19.0 73.0
D7 D3 INV= *7 -90 18.0 740| E3 E1l 5¢ O-2 vA 100 16.0 76.0| E1I0 E8 4NN= +5 630 19.0 73.0
B3 Bl 2v N-1 &3 -100 10.0 82.0| E9 E4 54DO-1 vA 100 16.0 76.0| B12 B2 3NS+1 3 630 19.0 73.0
D8 D2 2NN-1 -100 10.0 82.0| A13 A6 5¢ O-2 vA 100 16.0 76.0| D13 D16 3NS+1 9 630 19.0 73.0
G9 G4 34 S-1 #A -100 10.0 82.0| A5 Al6 5¢ O-1 vA 50 12.0 80.0| D8 D4 44 N= vJ 620 12.0 80.0
B1l B5 2NN-1 2 -100 10.0 82.0| G3 G1 5vS-1 +A -50 8.0 84.0| G3 Gl 3NS= +3 600 8.0 84.0
F12 F2 3NN-1 ¢2 -100 10.0 82.0| C5 Cl16 64 S-1 +A -50 8.0 84.0|C11 C15 3NN= v6 600 8.0 84.0
C13 C5 3NN-1 2 -100 10.0 820|F12 F2 4vS-1 2 -50 8.0 84.0|F1l1 F5 3NS= *J 600 8.0 84.0
D14 D13 2NN-1 ¢2 -100 10.0 82.0| B7 B6 5#N-2 K -100 2.0 90.0| C3 C7 24 N+4 +5 230 4.0 88.0
B10 B8 2y N-2 &J 2200 1.0 91.0|G12 G2 4v S-2 +A -100 2.0 90.0| B3 Bl INS+4 +J 210 2.0 90.0
Al2 A3 2NN-2 2 -200 1.0 91.0| D18 D6 6vyDS-1 ¢A -100 2.0 90.0|B11 B5 2NS+2 +J 180 0.0 92.0
D1 - 42.0 Cc8 - 53.1 Cc8 - 53.1
Ci15 - 42.3 - D3 52.6 - D3 52.6
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13 4 D103 Basta kontrakt 14 4 E8765 Basta kontrakt 15 4 Kn8743 Basta kontrakt
Nord v Kn108532 34 O =-110 Ost v 104 3NT O =-400 Syd v KKn953 5¢ V =-400
Alla +42 Ingen + Kn43 NS + Kn
108 & ¢ v & NT #D63 & ¢ v &N »64 & v o4
4 K98764 4 Kn5 N4 7845 «Kn43 «KD10 N4 4554 4 EK952 #10 N 3 6 4
vD7 v K64 S478565 vK87 vED2 S 44554 vE v 10876 S 3 6 4
¢ DKn ¢E75 095586 ¢762 ¢ ED98 099779 ¢ KD743 ¢ E86 O 10117 8
#642 #KDKn75 V85476 #EK72 #1095 V997729 #93 #EKn1072 VvV 10117 8
aE2 492 D6
vE9 v Kn9653 v D42
+ K109863 + K105 410952
#E93 *Kn84 *KD85
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
D1 D13 44 V-4 ¢4 400 920 0.0| B1 B10 3NO-2 v6 100 89.0 3.0| B9 B5 2vS= +Q 110 92.0 0.0
D2 D12 44 V-3 ¢4 300 88.0 4.0| A3 A10 3NO-2 5 100 89.0 3.0| Bl B10 34 V-2 ¢2 100 85.0 7.0
B8 B7 5¢ V-3 ¥5 300 88.0 40| G9 G5 3NO-2 5 100 89.0 30| G8 G7 3NO-2 «Q 100 85.0 7.0
D18 D7 44 V-3 ¢4 300 88.0 4.0|Gl1 G6 3NO-2 5 100 89.0 30| F9 F5 5¢V-2 5 100 85.0 7.0
F1 F10 34 V-2 ¢4 200 76.0 16.0| Al Al14 3NO-1 3 50 73.0 19.0| G9 G5 5¢ V-2 &6 100 85.0 7.0
D3 D11 34 V-2 ¢4 200 76.0 16.0| C1 C14 3NO-1 3 50 730 190|E11 E6 5¢ V-2 3 100 850 7.0
D6 D8 34 V-2 ¢4 200 76.0 16.0] A2 A5 3NO-1 49 50 73.0 19.0| D18 D8 3NO-2 v2 100 85.0 7.0
B9 B5 3NO-2 v2 200 76.0 16.0| A4 A8 3NV-1 3 50 73.0 19.0| B8 B7 2¢ S= *4 90 77.0 15.0
E9 E5 2NO-2 +¢9 200 76.0 160 E4 E2 3NO-1 ¥5 50 73.0 19.0|B12 B3 1¢ S+1 46 90 77.0 15.0
Gll G6 24 V-2 ¢4 200 76.0 16.0| B8 B7 3NO-1 3 50 73.0 19.0| F1 F10 24 V-1 44 50 67.0 25.0
Al2 Al15 34 V-2 ¢2 200 76.0 16.0| B9 B5 3NO-1 3 50 73.0 19.0| C2 Cl14 44 V-1 ¢J 50 67.0 25.0
F12 F3 34V-2 ¢2 200 76.0 16.0| E9 E5 3NO-1 v6 50 73.0 190 D2 D14 24 V-1 ¢ 50 67.0 25.0
Al6 A6 44 V-2 ¢4 200 76.0 16.0|B12 B3 3NO-1 3 50 73.0 19.0| A3 A6 24 V-1 ¢J 50 67.0 25.0
E1l E6 2¢ S+1 &4 110 63.0 29.0|G12 G3 3NO-1 ¥9 50 73.0 19.0| D3 D13 3NO-1 &5 50 67.0 25.0
Gl2 G3 3¢ S= K 110 63.0 29.0( A16 A6 3NO-1 3 50 730 190 B4 B2 24 V-1 ¢4 50 67.0 25.0
D14 D17 3¢ S= 6 110 63.0 29.0|C16 C6 3NO-1 3 50 73.0 19.0| D4 D12 3NO-1 +v4 50 67.0 25.0
D16 D15 3¢ S= «2 110 63.0 29.0| F4 F2 1¢ O+1 ¥5 -90 60.0 320 E4 E2 3NV-1 9 50 67.0 25.0
Al Al4 34 V-1 2 100 50.0 42.0| C9 C11 2NO= 3 -120 57.0 35.0| A5 A9 2¢ V= v3 -90 56.0 36.0
Bl B10 24 V-1 ¢J 100 50.0 42.0|C12 C15 2NV = 45 -120 57.0 35.0| A7 Al6 INO= &K -90 56.0 36.0
A2 A5 24 V-1 ¢4 100 50.0 42.0| E1 E10 3NO= 3 -400 36.0 56.0| D15 D1 INO= ¢2 -90 56.0 36.0
E8 E7 34V-1 ¢4 100 50.0 420 D2 D12 3NO= 3 -400 36.0 56.0| A2 Al4 2¢ V+1 ¢J -110 45.0 47.0
C9 Cl11 3#0-1 +A 100 50.0 42.0| D3 D11 3NO=  ¥5 -400 36.0 56.0| F8 F7 3¢ V= v3 -110 45.0 47.0
Bl12 B3 24 V-1 ¢J 100 50.0 42.0| B4 B2 3NO= 3 -400 36.0 56.0 | D11 D5 2¢ V+1 &6 -110 45.0 47.0
Cl2 C15 24 V-1 ¢4 100 50.0 420 G4 G2 3NO= v6 -400 36.0 56.0 | F11 F6 2¢ V+1 43 -110 45.0 47.0
E12 E3 44 V-1 v3 100 50.0 42.0| E8 E7 3NO= 49 -400 36.0 56.0 | G11 G6 3¢ V= v5 -110 45.0 47.0
Cl3 C7 34V-1 &T 100 50.0 42.0| F8 F7 3NO= 3 -400 36.0 56.0 | E12 E3 2¢ V+1 ¢3 -110 45.0 47.0
A4 A8 2¢ S= *2 90 39.0 53.0| G8 G7 3NO= v6 -400 36.0 56.0 | A13 A8 3¢ V= v3 -110 45.0 47.0
FA F2 2¢ S= *2 90 39.0 53.0| A9 A1l 3NO= 3 -400 36.0 56.0 | A15 Al 2¢ V+1 3 -110 45.0 47.0
Al3 A7 INO= +8 -90 36.0 56.0| F9 F5 3NO= v5 -400 36.0 56.0| E1 E10 2¢ V+2 ¥9 -130 31.0 61.0
A3 Al10 3¢ S-1 %6 -100 29.0 63.0| D10 D4 3NO= v¥5 -400 36.0 56.0| F4 F2 2¢ V+2 ¥9 -130 31.0 61.0
F8 F7 2¢ S-1 43 -100 29.0 63.0| E11 E6 3NO= ¥5 -400 36.0 56.0| C7 Cl1l6 2¢ V+2 %6 -130 31.0 61.0
G8 G7 3vyN-1 -100 29.0 63.0| A12 Al15 3NO= ¥5 -400 36.0 56.0| E8 E7 2¢ V+2 ¥5 -130 31.0 61.0
FO F5 2¢ S-1 &6 -100 29.0 63.0|E12 E3 3NO= v7 -400 36.0 56.0|G12 G3 2¢ O+2 #6 -130 31.0 61.0
G9 G5 3¢ S-1 42 -100 29.0 63.0| A13 A7 3NO= ¢33 -400 36.0 56.0 | D17 D16 2¢ V+2 ¥5 -130 31.0 61.0
Cl6 C6 2¢ S-1 #6 -100 29.0 63.0|C13 C7 3NO= 49 -400 36.0 56.0 | B11 B6 34 V= *4 -140 24.0 68.0
E1l E10 24 V= 2 -110 20.0 72.0| D14 D17 3NO= ¢33 -400 36.0 56.0| G1 G10 2N O+1 &5 -150 21.0 71.0
B4 B2 3¢ V= *4 -110 20.0 72.0| D16 D15 3NO=  ¢3 -400 36.0 56.0|C13 C8 2NO+1 ¥2 -150 21.0 71.0
D10 D4 24 V= +4 -110 20.0 72.0| D18 D7 3NO= ¥4 -400 36.0 56.0| C5 C9 2¢ V+5 3 -190 18.0 74.0
A9 All 3#0+1 vA -130 16.0 76.0| D1 D13 3NO+1 3 430 9.0 83.0| E9 E5 3v N-2 3 -200 16.0 76.0
Cl Cl4 24 V+1 ¢4 -140 11.0 81.0| F1 F10 3NO+1 ¥5 -430 9.0 83.0| C3 C6 3NV= 43 -400 8.0 84.0
Gl G10 24 V+1 ¢4 -140 11.0 81.0| G1 G10 3NO+1 ¥3 -430 9.0 83.0| A4 All 3NV= v9 -400 8.0 84.0
C2 C5 3aV= *4 -140 11.0 81.0| C2 C5 3NO+1 3 430 9.0 83.0| C4 Cl11 3NO= T -400 8.0 84.0
C4 C8 24 V41 ¢4 -140 11.0 81.0| D6 D8 3NO+1 ¥9 -430 9.0 83.0| A10 Al2 3NO= 45 -400 8.0 84.0
G4 G2 2NO+1 T -150 6.0 86.0|B11 B6 3NO+1 ¢3 -430 9.0 83.0|D10 D6 3NO= &K -400 8.0 84.0
F11 F6 3¢ S-3 &6 -300 4.0 88.0| F11 F6 3NV +l1 45 430 9.0 830|F12 F3 3NO= v4 -400 8.0 84.0
E4 E2 3NO= T -600 1.0 91.0| F12 F3 3NO+1 ¥3 -430 9.0 83.0|C15 C1 3NO= &5 -400 8.0 84.0
Bll B6 3NV= *5 -600 1.0 91.0| C4 C8 3NO+2 45 -460 0.0 92.0| G4 G2 3NO+2 T -460 0.0 92.0
C3 - 50.0 C3 - 50.0 D7 - 32.9
- D5 33.9 - D5 - C12
16 «ED Bésta kontrakt 17 & EKn95 Bésta kontrakt 18 4 D1084 Bésta kontrakt
Vast v Kn64 64 N D -3 -500 Nord v52 5v O =-450 Ost v10 3NT S =600
ov + K4 Ingen + 1098 NS + E92
#K106532 & ¢ v & NT *K742 » v 4 N #Kn10862 LRI
2109862 & KKn4 N9 6121 aKD32 &7 N 3 253 4Kn96 & K72 N 109 7 9
v 108752 v EKD9 S86111 v10 v EKD876 S 3 253 vD7652 vKn984 S 109 7 9
¢85 ¢ E1032 04 6 111011 ¢ED32 ¢ K74 O 1011118 9 ¢ Knl06 543 03364
*9 *ED V 46 111011 #10865 #EKn9 V 1011107 9 &75 #EK3 V3364
753 + 10864 «E53
v3 v Kn943 v EK3
+ DKn976 ¢ Kn65 + KD87
*Kn874 «D3 *D94
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
Al3 A8 24 0-4 #4 400 92.0 0.0| Bl B8 3NV-1 &2 50 910 10| F1 F8 3NS+1 2 630 88.0 4.0
F9 F6 4NO-3 #4 300 89.0 3.0| F1 F8 3NO-1 +6 50 910 10| D4 D14 3NS+1 v2 630 88.0 4.0
D18 D8 2#0-3 v3 300 89.0 3.0 F2 F10 2v O+2 44 -170 80.0 12.0| E9 E6 3NS+1 T 630 88.0 4.0
E2 E10 24DS+1 vA 280 86.0 6.0| A5 Al12 3v O+l £Q -170 80.0 12.0| D12 D6 3NS+1 v2 630 88.0 4.0
G5 G3 5vV-2 ¢4 200 83.0 90| G5 G3 2v O+2 &3 -170 80.0 12.0| D16 D2 3NS+1 2 630 88.0 4.0
D11 D5 2¢ O-2 &7 200 83.0 9.0 A6 Al10 2v O+2 &Q -170 80.0 12.0| B9 B6 44 N= v8 620 81.0 11.0
D2 D14 3#N-= vA 110 78.0 140| E9 E6 2v O+2 +¢5 -170 80.0 12.0| A14 A3 44 N= &A 620 81.0 11.0
C3 C6 3#N= vA 110 78.0 140 A1l Al 3v O+1 &3 -170 80.0 12.0|{ D11 D7 3NS= v5 600 77.0 15.0
A7 Al6 3& N= vA 110 78.0 140 B12 B4 3v O+1 &3 -170 80.0 12.0({G12 G4 3NS= v2 600 77.0 15.0
F1 F8 2NO-1 #4 100 70.0 22.0|C14 C3 3v O+l +¢5 -170 80.0 12.0| B5 B3 INS+3 5 180 74.0 18.0
B2 B10 3NO-1 6 100 70.0 220 A16 A8 3v O+1 &3 -170 80.0 12.0| A4 A7 2NS+1 2 150 70.0 22.0
B5 B3 4v0O-1 «J 100 70.0 22.0| B5 B3 INO+4 +6 -210 70.0 22.0| C5 Cl12 2NS+1 v2 150 70.0 22.0
F7 F11 3NO-1 ¢7 100 70.0 22.0| E7 E11 3NV= a5 -400 67.0 25.0| F7 F11 2NS+1 5 150 70.0 22.0
D10 D6 44 V-1 &6 100 70.0 22.0| A13 A9 3NO= +¢5 -400 67.0 25.0| B1 B8 INS+1 v2 120 52.0 40.0
F2 F10 4#DN-1 vA -100 61.0 31.0| D1 D17 4v O= &3 -420 50.0 42.0| G1 G8 INS+1 +J 120 52.0 40.0
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F5 F3 54DS-1 vA -100 61.0 31.0| E1 E8 4vO= &3 -420 50.0 42.0| B2 B10 INS+1 ¥2 120 52.0 40.0
G7 G11 5 N-2 +A -100 61.0 31.0| G2 G10 4v O= &Q -420 50.0 42.0| E2 E10 2NS= v2 120 52.0 40.0
B9 B6 44DN-1 vA -100 61.0 31.0| D3 D15 4v O = L J0) -420 50.0 420| F2 F10 INS+1 9 120 52.0 40.0
B7 B1ll1 2NO= &4 -120 56.0 36.0| C4 C7 4vO= +5 -420 50.0 42.0| D5 D13 2NS= v2 120 52.0 40.0
Bl B8 2NO+1 8 -150 53.0 39.0| D4 D14 4v O= a8 -420 50.0 420| F5 F3 INS+1 2 120 52.0 40.0
C7 C16 2NO+1 &4 -150 53.0 39.0| D5 D13 4v O= *5 -420 50.0 42.0| B7 Bll 2NS= v2 120 52.0 40.0
D3 D13 2NO+2 +¢7 -180 47.0 45.0| F7 Fl1l1 4v O= +5 -420 50.0 42.0| D8 D10 2NS= v5 120 52.0 40.0
A5 A9 2NO+2 &4 -180 47.0 45.0| D8 D10 4v O = &Q -420 50.0 420|C11 C1 INS+1 2 120 52.0 40.0
E9 E6 2NO+2 &7 -180 47.0 450| G9 G6 4y O= +6 -420 50.0 420|B12 B4 INS+1 ¥2 120 52.0 40.0
A10 Al12 2N O +2 &7 -180 47.0 45.0| D11 D7 4v O= +5 -420 50.0 42.0| A13 A9 INS+1 2 120 52.0 40.0
B12 B4 2NO+3 &4 -210 42.0 50.0| D12 D6 4v O= &3 -420 50.0 42.0|C14 C3 2NS= v2 120 52.0 40.0
El E8 34 V+3 &5 -230 40.0 52.0| F12 F4 4vO= a3 -420 50.0 420 Al5 A2 2NN-= v8 120 52.0 40.0
A4 All 2NO +4 &7 -240 37.0 55.0|G12 G4 4v O= &Q -420 50.0 42.0| A16 A8 INS+1 v2 120 52.0 40.0
D4 D12 2N O +4 &4 -240 37.0 55.0| A15 A2 4v O= &Q -420 50.0 420| C4 C7 24S+1 92 110 36.0 56.0
A2 Al4 5&4DN-2 ¢A -300 32.0 60.0| B2 B10 3NV +1 &4 -430 28.0 640|C16 C8 INS= v5 90 34.0 58.0
Gl12 G4 54DN-2 vA -300 32.0 60.0| A4 A7 3NV+l1l &4 -430 28.0 640|C15 C2 1¢ S= v2 70 32.0 60.0
D17 D16 4#DN-2 vA -300 32.0 60.0| C5 C12 3NV +1 &2 -430 28.0 640| E1 E8 3NS-1 v¥5 -100 18.0 74.0
E5 E3 3NO= &J -600 27.0 65.0| F5 F3 3NV+1 &4 -430 28.0 64.0| G2 G10 3NS-1 ¥5 -100 18.0 74.0
Al5 Al 3NO= & -600 27.0 65.0| B7 Bll 3NV +l1 &5 -430 28.0 64.0| D3 D15 3NS-1 8 -100 18.0 74.0
G2 G10 4v V= &3 -620 21.0 71.0| F9 F6 3NO+1 T -430 28.0 64.0| A5 Al12 3NS-1 v5 -100 18.0 74.0
A3 A6 4v V= a A -620 21.0 71.0| Al4 A3 3NO+1 5 -430 28.0 640| E5 E3 3NS-1 +¢J -100 18.0 74.0
C5 C9 4v V= ¢4 -620 21.0 71.0| E5 E3 4v O+1 46 -450 150 770 G5 G3 2NS-1 v2 -100 18.0 74.0
F12 F4 44 V= +K -620 21.0 71.0| B9 B6 4v O+l 5 -450 15.0 77.0| E7 E11 3NS-1 v5 -100 18.0 74.0
C2 C14 3NO+1 4 -630 15.0 77.0| E12 E4 4v O+1 5 -450 15.0 770 G7 G11 3NS-1 ¥5 -100 18.0 74.0
C4 C11 3NO+1 &4 -630 15.0 77.0|C15 C2 4v O+1 o4 -450 150 770 F9 F6 3NS-1 v2 -100 18.0 74.0
D15 D1 4vy V+1 &5 -650 12.0 80.0|C16 C8 4v O+1 &Q -450 15.0 77.0| A11 Al 3NS-1 2 -100 18.0 74.0
E7 E11 4v V+2 &6 -680 9.0 83.0|D16 D2 4v V+1 T -450 15.0 770|E12 E4 3NS-1 2 -100 18.0 74.0
Cl3 C8 4v V+2 &6 -680 9.0 83.0| G1 G8 3NV+2 A -460 50 87.0|F12 F4 3NS-1 5 -100 18.0 74.0
Gl G8 3NO+3 #J -690 3.0 89.0| G7 G11 3NV+2 T -460 50 87.0|C13 C9 3NS-1 2 -100 18.0 74.0
G9 G6 3NO+3 #4 -690 3.0 89.0|C1l1 Cl1 3NO+2 9 -460 5.0 87.0| D1 D17 3NS-2 ¢J -200 2.0 90.0
E12 E4 3NO+3 &7 -690 3.0 89.0|C13 C9 3NV+2 T -460 5.0 87.0| A6 A10 3NS-2 v2 -200 2.0 90.0
Cl5 Cl 3NO+3 4 -690 3.0 89.0| E2 E10 4NO+2 ¥3 -490 0.0 920| G9 G6 3NS-2 2 -200 2.0 90.0
D7 - 32.9 C6 - 41.2 C6 - 41.2
- C12 51.7| D18 - 54.6 D18 - 54.6
19 & K1084 Basta kontrakt 20 & K974 Basta kontrakt 21 & Kn106 Basta kontrakt
Syd va 56 S =450 Vast v Kn10873 44 V =-620 Nord v K9752 5& V =-400
oV + KD1062 Alla ¢+ 64 NS ¢+ E10
K54 & ¢ v & NT &53 & ¢ v & NT &KD7 & ¢ v & NT
4EB3 &Knb N 6 107 118 4 D8652 & EKn N2 26 3 4 a2 s E4 N2 26 95
vKD76 ¥983 S 6 107 118 v4 v E652 S226 34 vE106 v DKn8 S226965
¢E4 + 873 072523 + D98 ¢ EK73 O 11117 109 ¢ DKn6543 ¢ K72 O 109 6 4 6
#9762 &DKnl083 V 7 2 5 2 3 &#E974 D102 V 11117 109 #1085 &#EKn964 V 11107 4 6
4 D972 4103 & KD98753
v EKn1052 v KD9 v43
+ Kn95 + Kn1052 +98
&E &#KKn86 &32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A5 A8 3NN+2 &#Q 460 920 00| E2 E1 3NO-2 +¢2 200 87.0 50| Al A3 44 S= vA 620 89.0 3.0
B2 Bl 44 N+1 &Q 450 78.0 140 F8 F11 44 V-2 3 200 87.0 50| G2 Gl 44 S= &5 620 89.0 3.0
D2 D1 54 N= &Q 450 78.0 140| G8 G11 2NO-2 T 200 87.0 50| E3 E10 44 S= vA 620 89.0 3.0
G2 Gl 464 S+1 ¢A 450 780 140 B9 B7 3NO-2 +¢5 200 87.0 50| G9 G7 44 N= &9 620 89.0 3.0
E3 E10 464 N+1 &J 450 780 140| F9 F7 3NO-2 K 200 87.0 5.0|C13 Cl11 3NN= &4 600 84.0 8.0
G3 G10 44 N+1 #Q 450 78.0 14.0| A13 A10 3NO-2 +¢5 200 87.0 50(|Bl2 B5 5¢DV-2 46 300 82.0 10.0
B6 B4 44 N+1 &Q 450 78.0 140 D2 D1 3NO-1 ¢J 100 66.0 26.0( B8 Bll INO-4 &K 200 80.0 12.0
E6 E4 44 N+1 &T 450 78.0 140| F2 F1 44 O-1 3 100 66.0 26.0| B6 B4 24 S+2 43 170 75.0 17.0
A7 All 44 S+1 ¢A 450 78.0 140| G3 G10 44 V-1 vJ 100 66.0 26.0| G8 G11 34 S+1 &3 170 75.0 17.0
B8 Bll 44 S+1 ¢A 450 78.0 140| D4 D16 44 O-1 T 100 66.0 26.0| B9 B7 24 S+2 ¢Q 170 75.0 17.0
F8 F11 44 N+1 &8 450 780 140| C5 C8 3NO-1 K 100 66.0 26.0 D18 D11 34 S+1 &8 170 75.0 17.0
E9 E7 44 N+1 &#Q 450 78.0 140 A6 Al 3NO-1 6 100 66.0 26.0| B3 B10 INO-3 «Q 150 68.0 24.0
Al3 Al0 44 S+1 &9 450 78.0 140 B6 B4 3NO-1 &6 100 66.0 26.0( C4 C15 2NN+1 &9 150 68.0 24.0
Cl4 C4 464 S+1 +A 450 78.0 140| D6 D14 3NV-1 7 100 66.0 26.0| A7 A2 3NO-3 &K 150 68.0 24.0
B9 B7 3NN+l &8 430 63.0 29.0| E6 E4 3NO-1 vQ 100 66.0 26.0| C1 C3 34 S= +3 140 55.0 37.0
D13 D7 3NN+1 & 430 63.0 29.0( C7 C11 3NO-1 +¢2 100 66.0 26.0| B2 Bl 24 S+1 T 140 55.0 37.0
B3 B10 44 N= &3 420 53.0 39.0| B8 B11l 3NV-1 &7 100 66.0 26.0| F3 F10 34 S= &5 140 55.0 37.0
C5 C8 44 S= &9 420 53.0 39.0| E9 E7 44 V-1 vJ 100 66.0 26.0| A6 A9 34 S= &5 140 55.0 37.0
C7 C11 44 N= v9 420 53.0 39.0(B12 B5 3NO-1 6 100 66.0 26.0| E6 E4 34 S= +Q 140 55.0 37.0
G8 Gl1ll1 44 N= &Q 420 53.0 39.0(C14 C4 3NO-1 &8 100 66.0 260 F6 F4 24 S+1 &T 140 55.0 37.0
A9 Al6 44 S= &2 420 53.0 39.0| D17 D3 3NO-1 T 100 66.0 26.0| C7 C2 24 N+1 vQ 140 55.0 37.0
B12 B5 44 S= &9 420 53.0 39.0| B3 B10 INO= &J -90 50.0 420|F1l2 F5 34 S= &T 140 55.0 37.0
Cl2 C2 44 N= &Q 420 53.0 39.0| A5 A8 1v O+l &8 -110 48.0 440| D14 D8 34 S= +3 140 55.0 37.0
Gl2 G5 44 S= ¢A 420 53.0 39.0( C3 C15 INO+1 %6 -120 41.0 51.0| A16 Al10 34 S= &T 140 55.0 37.0
F3 F10 3NN= s 400 43.0 49.0( D5 D15 2NO= &6 -120 41.0 510| C6 C9 2NN-= *2 120 44.0 48.0
D4 D16 3NN= &Q 400 43.0 490 C6 C1 INO+1 #6 -120 41.0 51.0| F2 F1 54DO-1 ¥3 100 41.0 51.0
C3 C15 2NV-2 v4 200 38.0 54.0(C12 C2 INO+1 6 -120 41.0 51.0| E9 E7 2NO-2 &K 100 41.0 51.0
C6 Cl 34 S+2 &2 200 38.0 540 E12 E5 INO+1 &8 -120 41.0 51.0( E8 El11l 5¢ V-1 &J 50 38.0 54.0
G6 G4 34 S+2 ¢A 200 38.0 540| A14 A4 2NO= vK -120 41.0 51.0| D1 D4 44 S-1 &8 -100 26.0 66.0
E8 E11 24 N+2 &#Q 170 33.0 59.0 A9 A16 24 O+1 8 -140 32.0 60.0| E2 E1 44S-1 ¢Q -100 26.0 66.0
C9 C16 34 N+1 #Q 170 33.0 59.0| C9 Ci16 24 O+1 ¢¥K -140 32.0 60.0| G3 G10 44 S-1 vA -100 26.0 66.0
Al2 A2 34 S= ¢A 140 30.0 62.0(G12 G5 24 V+1 &5 -140 32.0 60.0| A5 Al4 44 S-1 +Q -100 26.0 66.0
F6 F4 2NN= &Q 120 26.0 66.0 G2 Gl INO+2 6 -150 24.0 68.0| G6 G4 34 S-1 &T -100 26.0 66.0
D17 D3 2NN-= «Q 120 26.0 66.0| E3 E10 2NO+1 +¢2 -150 24.0 68.0| D7 D15 44 S-1 +Q -100 26.0 66.0
D18 D10 2NN = &Q 120 26.0 660 F6 F4 2NO+1 %6 -150 24.0 68.0| C8 C12 44 S-1 +Q -100 26.0 66.0
G9 G7 Pass 220 700 G9 G7 2NO+1 8 -150 240 68.0| F9 F7 44 N-1 2 -100 26.0 66.0
E2 E1 44 S-1 ¢A -50 14.0 78.0| D13 D7 2NO+1 %6 -150 24.0 680 E12 E5 44 S-1 ¢4 -100 26.0 66.0
F2 F1 44 N-1 ¢A -50 14.0 78.0| F3 F10 24 O+2 ¢Q -170 18.0 740|G1l2 G5 44 S-1 48 -100 26.0 66.0
A3 Al5 44 N-1 43 -50 14.0 78.0| B2 Bl 3NO= &6 -600 12.0 80.0| A13 All 44 S-1 ¢Q -100 26.0 66.0
D5 D15 44 N-1 #Q -50 14.0 78.0| A3 Al15 3NO= &6 -600 12.0 80.0| A4 Al15 INO+1 &K -120 14.0 78.0
D6 D14 44 S-1 +A -50 14.0 78.0| A7 A1l 3NO= &8 -600 12.0 80.0| A8 Al2 34 O+1 &3 -130 11.0 81.0
D12 D8 44 S-1 &7 -50 14.0 78.0| E8 E11 3NV= v7 -600 12.0 80.0| D10 D12 24 O +2 v4 -130 11.0 81.0
F12 F5 44 S-1 ¢A -50 14.0 78.0| D18 D10 3NO= *2 -600 12.0 80.0| D3 D2 2&# O+3 &K -150 7.0 85.0
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A6 Al 3NN-2 &3 -100 3.0 89.0| G6 G4 3NO+1 5 -630 4.0 88.0| D6 D16 2# O+3 &K -150 7.0 85.0
F9 F7 3NN-2 &Q -100 3.0 89.0| D12 D8 3NO+1 &6 -630 4.0 88.0| C5 C14 54 S-2 vA -200 3.0 89.0
E12 E5 3NN-2 &3 -100 3.0 89.0| F12 F5 3NO+1 &6 -630 4.0 88.0| D5 D17 44DS-1 ¢Q -200 3.0 89.0
Ald A4 44 S-2 %6 -100 3.0 89.0| A12 A2 3NO+2 5 -660 0.0 920| F8 F11 3NO= v3 -400 0.0 92.0
- D11 47.7 - D11 47.7 | D13 - 42.8
C13 - 32.1 C13 - 32.1 C16 - 46.8
22 4 ED7 Basta kontrakt 23 41098632 Basta kontrakt 24 410 Basta kontrakt
Ost v 654 3% SD-1-100 Syd v9 3 S =110 Vast v D875 4e \V =-420
ov + 109 Alla +108 Ingen + 10654
&#EKNn1043 & ¢ v &N &EKKN10 & ¢ v &N &D1087 & ¢ v &N
&4 Kn853 496 N8 5565 & EK74 #DKn N9 287 4 4 EKD2 #Kn874 N4 43 33
vD9 vEKNn1087 S 8 55 6 5 v853  vKDKn S9287 4 vE932 vKnl06 S44333
¢+ KD52 ¢ E86 O57 865 ¢ ED94 ¢ KKn653 O3 856 8 7 ¢ EKKn9 O8 8 9 109
&#KD8 976 V578675 42 &763 V 3856 8 &E542 #Kn9 V 8 8 9 109
& K1042 a5 #9653
v K32 v E107642 v K4
¢ Kn743 *72 + D832
&52 #D985 K63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F9 F8 3NV-4 &T 400 92.0 0.0| A13 Al12 5¢ V-3 &A 300 920 00| A2 A4 4v V-3 &8 150 92.0 0.0
E4 E10 2NV-3 &T 300 88.0 4.0| A7 A10 5¢ O-2 <vA 200 90.0 20| E3 E2 4e4V-2 45 100 87.0 5.0
F4 F10 3¢ V-3 &T 300 88.0 40| B3 B2 3NO-1 T 100 81.0 11.0| B4 B10 3NV-2 +6 100 87.0 5.0
C8 C12 3NV-3 & 300 88.0 4.0| B4 B10 5¢ V-1 &K 100 81.0 11.0| E6 E12 64 V-2 &7 100 87.0 5.0
E3 E2 2NV-2 &4 200 80.0 12.0( G4 G10 5¢ O-1 45 100 81.0 11.0| E7 E5 44 V-2 v7 100 87.0 5.0
A6 A9 3¢ V-2 &A 200 80.0 12.0| B6 B12 5¢ V-1 &#K 100 81.0 11.0( B1 B11l 3NV-1 ¥5 50 71.0 21.0
C6 C9 3¢ V-2 &3 200 80.0 12.0| E6 E12 3NV-1 46 100 81.0 11.0| G1 G11 44 O-1 &3 50 71.0 21.0
G9 G8 INV-2 T 200 80.0 12.0| F9 F8 5¢ V-1 &A 100 81.0 11.0| C2 C4 4e V-1 v7 50 71.0 21.0
Al6 Al0 2¢ V-2 v6 200 80.0 12.0| G9 G8 3NO-1 &5 100 81.0 11.0| G3 G2 44 V-1 &7 50 71.0 21.0
G7 G5 INS+1 2 120 740 180|C15 C5 5¢ V-1 #A 100 81.0 11.0| F4 F10 44 V-1 +8 50 71.0 21.0
Cl C3 24 S= v9 110 71.0 21.0| D2 D5 2¢ V= &K 90 72.0 20.0| C6 C14 44 O-1 2 50 71.0 21.0
D3 D2 24 S= vQ 110 71.0 21.0| A2 A4 44 N-1 «Q -100 68.0 240| D6 D1 44 V-1 v5 50 71.0 21.0
F1 F11 2NV-1 &4 100 65.0 27.0| C2 C4 2vS-1 A -100 68.0 24.0| G6 G12 44 V-1 &7 50 71.0 21.0
F6 F12 3¢ V-1 43 100 65.0 27.0( G7 G5 2v S-1 &2 -100 68.0 240| F7 F5 44 V-1 &T 50 71.0 21.0
B7 B5 3NV-1 &T 100 65.0 27.0| Bl Bl1ll 3¢ V= v9 -110 61.0 31.0| A8 A3 44 V-1 &7 50 71.0 21.0
D10 D12 2¢ V-1 v6 100 65.0 27.0| F1 F11 3¢ V= &A -110 61.0 31.0| A9 Al 44 V-1 v7 50 71.0 21.0
E9 E8 2&# N= +6 90 60.0 32.0| F6 F12 2¢ O+1 vA -110 61.0 31.0| B9 B8 44 O-1 43 50 71.0 21.0
E1l E11 24 N-1 49 -50 55.0 37.0| F7 F5 2¢ V+1 ¥9 -110 61.0 31.0| B6 B12 24 O+1 2 -140 57.0 35.0
B4 B10 24 N-1 +¢6 -50 55.0 37.0| E3 E2 2¢ O+2 45 -130 47.0 45.0| A15 A5 24 V+1 5 -140 57.0 35.0
B6 B12 24 S-1 +¢K -50 55.0 37.0| G6 G12 3¢ O+1 vA -130 47.0 450| C8 C3 2NO+1 9 -150 54.0 38.0
G6 G12 14 S-1 vQ -50 55.0 37.0| C8 C3 3¢ V+1 &A -130 47.0 450| B7 B5 3NO= *2 -400 49.0 43.0
Al A3 2¢ V= &3 -90 47.0 45.0| A9 Al 3¢ O+1 YA -130 47.0 45.0| D11 D13 3NV= &7 -400 49.0 43.0
D1 D4 2¢ V= v5 90 47.0 45.0| B9 B8 3¢ O+1 &5 -130 47.0 45.0 | A13 Al2 3NV= v5 -400 49.0 43.0
A4 Al15 INO= a4 90 47.0 450| C9 C1 4¢ V= &A -130 47.0 45.0| D18 D12 3NO= &3 -400 49.0 43.0
A5 Al4 INO= +3 90 47.0 45.0| E9 E8 3¢ V+1 &A -130 47.0 45.0| E1 El11 44 V= &7 -420 26.0 66.0
D14 D8 2&#N-2 7 -100 42.0 50.0 | C11 C16 3¢ V+1 &A -130 47.0 45.0| D2 D5 44 O= +3 -420 26.0 66.0
Bl B1l 2v O= &5 -110 36.0 56.0 | D14 D10 2¢ V+2 &A -130 47.0 45.0| B3 B2 44 O= +8 -420 26.0 66.0
C4 C15 2vO= &5 -110 36.0 56.0 | D18 D12 3¢ V+1 #A -130 47.0 450| F3 F2 44 O= *2 -420 26.0 66.0
D5 D17 2v O= &5 -110 36.0 56.0| E4 E10 3¢ O+2 5 -150 32.0 60.0| D4 D3 44 O= *2 -420 26.0 66.0
E7 E5 2v 0= &5 -110 36.0 56.0| F4 F10 3¢ O+2 &5 -150 32.0 60.0| E4 E10 4e V= &7 -420 26.0 66.0
D18 D11 2v O= &2 -110 36.0 56.0| A8 A3 3¢ O+2 VYA -150 32.0 60.0| G4 G10 44 O= *2 -420 26.0 66.0
E6 E12 INO+1 ¢2 -120 26.0 66.0 | A1l Al6 4¢ O+1 45 -150 32.0 60.0| A6 Al4 4a V= &7 -420 26.0 66.0
C7 C2 2NV= &4 -120 26.0 66.0 | D11 D13 3¢ O+2 a2 -150 32.0 60.0| A7 Al0 4e V= v7 -420 26.0 66.0
D7 D15 INV+1 &7 -120 26.0 66.0 | C13 C12 44 N-3 ¢3 -300 26.0 66.0| G7 G5 44 O= *2 -420 26.0 66.0
B9 B8 INO+1 ¢4 -120 26.0 66.0| D4 D3 3NO= &5 -600 20.0 72.0| D8 D16 44 O= *3 -420 26.0 66.0
C13 C11 INV+1 T -120 26.0 66.0| A6 Al4 3NO= v2 -600 20.0 720| C9 Cl 44 O= *2 -420 26.0 66.0
Gl G11 2v O+1 &2 -140 17.0 75.0| C6 Cl4 3NO= v4 -600 20.0 72.0| E9 E8 44 O= +3 -420 26.0 66.0
F3 F2 2v O+1 #2 -140 17.0 75.0| E7 E5 3NO= v2 -600 20.0 72.0| F9 F8 44 O= vK -420 26.0 66.0
D6 D16 2v O+1 &5 -140 17.0 75.0| A15 A5 3NO= v4 -600 20.0 72.0| G9 G8 44 O= +8 -420 26.0 66.0
Al3 All 3vO= &2 -140 17.0 75.0| F3 F2 3NO+1 2 -630 11.0 81.0| A1l Al6 4« V= aT -420 26.0 66.0
B3 B2 INV+2 &T -150 9.0 83.0| B7 B5 3NO+1 v4 -630 11.0 81.0 | C11l C16 44 V= v8 -420 26.0 66.0
G3 G2 INV+2 &4 -150 9.0 83.0| D7 D17 3NO+1 v6 -630 11.0 81.0|C13 Cl12 44 O= +3 -420 26.0 66.0
G4 G10 INV+2 &4 -150 9.0 83.0| D8 D16 3NO+1 v¥6 -630 11.0 81.0| D14 D10 44 O= *2 -420 26.0 66.0
A8 Al12 INV+2 &4 -150 9.0 83.0| E1 E11 3NO+2 ¥2 -660 3.0 89.0| F1 F11 3NV+1 ¥5 -430 6.0 86.0
C5 C14 2NV +2 &4 -180 3.0 89.0| G1 G11 3NO+2 vA -660 3.0 89.0| F6 F12 44 O+1 2 -450 2.0 90.0
F7 F5 INV+3 &4 -180 3.0 89.0| G3 G2 3NV+2 &A -660 3.0 89.0| D7 D17 44 O+1 2 -450 2.0 90.0
A7 A2 3NV= &T -600 0.0 92.0| D6 D1 3NO+2 v2 -660 3.0 89.0|C15 C5 44 O+1 2 -450 2.0 90.0
D13 - 42.8 Cc7 - 48.5 Cc7 - 48.5
C1l6 - 46.8 D15 - 55.5 D15 - 55.5
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